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Logic Problem 3 

• Clue 1: (Not to be mean about it, just puttin’ it out there) Toni can't pitch 
• Clue 2: Andrew is not the legislator, Andrew didn't graduate in 1926, the lawmaker 

didn't graduate in 1926 
• Clue 3: Dick graduated early in the century and did not pitch which leaves Andrew 

as the pitcher and means 1926, which is not Andrew's year (Clue 2) is not the year 
of the pitcher, leaving 1919 as the pitcher's year, Andrew's year 

• The grid now leaves only 1926 as the year of the producer, and that's the only year 
left for Dick, who must also be the producer 

• Toni is not the producer, the rest fills in 

 


